A3 AR BTN 4 SR 3R

BRFD 48 &5
"";;a'_ { FENAR D EHErE e MO R I R s
#AlE (& 3.5 1INE ) SHEESP 8 A
£ T Hb L 5 1
%E 23] = 2o = . 6| 4.23| # 5.21| # G.18] # 7.16
— @ ® (2rn) | sa 33 34| 33| 87 | 6o | 55 [ 56 | 107 [121 | a8
B R & B | WD | |l | RO | WD | RD | D | B | G | Rl | R | G | D
I L' O i} i W | E B B R L] i & B it
& (Fmen (B & 10:00 | 14:00]10:00 [14 :00[10:00 [ 1az00[11: 35  1a: 20 na: 151 12: 43 vo: 98 [14: 98 10: 92
P T ) 060 o060 os7| ose| oso| oso| oso
il E R X B (m 01z| 012| 013| 013| 010| 10| D10
AEE L R '
MEELE R ED)
o # () 1.5 1.0 2.0 20| 240| 265] 176| 108| 170 180]| 2zos
H BT A () o] 85| 5o 50 10.0| 140] 142] 1s2| 140 143] 108
& 1
']‘ = = =, = = =3 = - = - = = — =
[ O () 30 21 k| 30 2 k{30 B E| 30 1k s0 Lk |30 BLE | 30 BiE
| 7 v (/L) 000 0.00 0.01 0000 0.001 0.00 1
i EXEEET 177 0000 0.0 00 0000 - = -
#f ] & (L) 00 0.0 000 000 | ooo 000
B F s o A(mi) 000 000 200 0.00 0.00 000
" i (=g L) 001 oo12 0.014 002 000 0.03
#e 4 ( B4) (mprle) onn (T 0,00 0o 0.00 0.00
8| & #E (mpd) 0019 0.018 0020 0.02 000 0.00
] . B (mgrL) anon oo nooo oo 000 0.00
s H 78| 17| = g8 88| 87 7.2 75| e8| 72| 68 70| &8
i D 0 (mpd) 1108| 1106] 1233 1231| 1220|1161 108 102 a8 a8 9z ,M Ba
g | D O D (m27L) 18| 214)| L22| 240( DBE| 085 0.8 08 05| 04| Q7 06| 0.3
mi|c 0 D (mae) 1.24 0.93 044 1.3 1zl Lo| o8| o8 07| 04
A 3 8 (/L) 74| 83| Bs| 72| 47| 64| 35| 30| 16| 18| 3 3| 13
H P A o (] 2 0 0 0 78 48| 130 78 20 45 78
o AN (meL) _
A Y - | Eéfm ono 0oo 0oo 0001 0001 0001
L 2 (mp/L) 015 0.27 n.24 012 0.01 0.03
Be| B (ma2) 024 04 0 046 006 003 0.0
m| & B 4 B 0.01 005 0.05 ‘008 005 016
B | EHtE~ & (i) 000 008 0.10 0.01 0.04 0.00
z ] A (eg L) 0.00 0.00 000 000 0oo 0.00
i & (L) 0.2 01 oz 0,10 01l 0,04
W& A4 & (miL)
hle = & -
f:l Tre=7HERH (L) 012 0.06 0.06 002 0.04 0.04
L & 7 oA 0 [ (L) 20.9 21.5 245
— | E | 1148 1220 1128 650 £3.0 56.0
O oo o RIS (2272) 0.04 0.06 0.03 0.00 0.01 0.00
7| p o B
fi 11 .
— | H R Ot B R () N1y 017 0zg
Vol g o (L) 0ol 0001 0001
| & @ # (e
i s, (ki) (m) —097| —087| —1.40
3] o

LRIEENE L BHERcowvTE, R, O, RCESotRATEE,
2 ElEosz, 8E, SHTE > 2882, toRERTaC L,

.




23 Ft R AR Bl SE A SRR

B0 48 &
A (AR ) AR TR S R0 DOV Gl b R SN M
g iR EllE ) SR M
PEEE TR Ji ]
REMSHE B T.16| g,20| # 9,17 + |10.22] » |ira8] # Ji1za7] w4 w #
i B (dra) 45 31| a4 os| o8| s2| s1| ma2 47| 23| ==z 21 =
i Lol {iz Bl | D | R | R | B | R | o | D | D | D | SR | BEAD | W
R % oo | oow [ m [ | e | m | w5 | o | o [BoraiEord] w | @
g | sEmgesal (o8 0 2 ) |13:98)10:98]va: 90  10:38] 0498 10: 98 ra: 80 | 10: 98] 14: 98] 6: 98] 12:90) 18:98) 24: 89
& & # o (m) 050 pan| o045| 070 068 071| 073| 080 0.95| 063| 061| 062 061
&l B IR & #B (m) 0.10| o032| 036| 024| 024] G14] MLS5] O1G6] 015 013 012 012 Daz
ElFyamn (8 H)
oi | WA (S )
= #H o(e) 31.5 282 269 19.0 220 138 178 52 4.8 =10 I.1l [1X1] =12
" i 4 B () zza| 22s| 242| 180| 195| 128| 152 6.6 74 4.0 54 5.0 4.5
b} M
2 k- < =| = - - = - = s i = = =
S JE () |30BLE| 230| 250| 280| 200({308Lj30BE| 270| 27.0| 280|308E
¥ 7 () |vom 0001 0.002 0001 0.002 0002
@ | 7o o KR (edE) - - - - - -
£ B’ B (mrL) 0.00 0.00 0.00 0.00 0.00 000
B57F : 7 a(we 000 0.00 0.00 0.00 0.00 0.00
5 ) (=z2) 008 0.00 0.00 b 0.00 0.00
#e & ( 6{F) (mL) 0.00 0.00 0.00 0.00 0.00 0.00
B | & # (wrL) 0.01 002 0.02 0.00 0.01 1 o000
i b/ 8 (s2) | opnoo 0000 0000 0000 0.000 0.000
. .p¢H 6.7 a0 B9 6.7 67 67 6.6 7.0 6.3 6.5 6.7 5.6 6
e D O (=g L) 8.6 8.6 20 94 a.0 29| 95| 113] 1100 116 105) 1LG| 106
s | B o D (mrL) 04| 04| 04| 04 0.5 04| 05 04 07| o4 05| od4| o4
8 | c o D (ma2) 0.3 0.7 1.0/ 05| o5 04| 05 05| 07| o0« o8| 05| os
# 8 8 (mL) 20 14 13 9 21 3 1 L 1 1 1 1 12
B Kk B EH B Iyradoe=s] 68| 140 a5|1100| 220] 130] 45 20 45| 110| as0| 170] 140
n e~ S (ser2) )
7w =0 (mpl) | op02 0.002 0.001 0002 0002 0.003
W i (s72) | 000 001 0o1] 004 002 0.03
| 4 i (mprL) 0.00 0.04 0.03 0.04 007 007
HlEg B B & (we) 0.00 027 000 000 000 000
B | &8~ () 00z 0.00 0.00 002 0.0 2 002
2 m & (rgL) 000 000 000 000 0.00 000 |
i * (m7L) 003 003 003 004 S 0.05 4l
BB A4 & (=) 4.5 10.5 I
Hlea B  #wo E
ﬁ 7ve=THERA (L) 0.06 0.05 0.09 0.01 0.01 001 e |
| E7A2 1 (marL) 20.5 22.8
. el i 770 a94.0 520 4.0 B0.0 1240 LW
£ D | B+ TSR (/L) 002 0.00 000 000 001 001 | i3
o, c B
il
< | RS nzg 034 034 047 029 017 |
: U A S €S 0002 0003 0902 0001 0001 0002
gt H B { pevotm) 228
il i, @ {m} —140]| =150 | =150 | ~1.30| —L30]| —1.30|—130| —1.32|—1.32| —149]| —149 -1.49;1;*_?,
3 ol

RARTEEYCG] 1 JRINOLR ok, JERE, iR, BOBToRREATSLEELE,

2. EMEOME, W, SR L s BeR, ToREETIZ L, -



236 K BB DE R+

MR 48 &
fiEEjTﬁﬂM$$J USRS AL U i BT L e A
Ik ¢ iR I BB ) S HEH UE
WIS = i:3
M -8 1,23 » 27| * 3, 6| » d, 23] # 5,21 w 6,18 » 7.16
--—"'"'E'_ B () 816| 1046 815 | a11 B2 B1| 166| 221| as 40 | 412 430 4.3
w Rt B | WO RO RO | RO RO |0 | BD [ [Ro [#e | & | ' | o
wlx wm [ m[m [ [ w | w | W | ®m [ m | m | @ | & | W
B Eﬂ#,{ﬂ (B : 4 ) |10:00[14:00]10:00]14:00 [10:00] 1a:00]10: 00| 14: 90  10: 98} 14: 90| 10: 00| 13: 45 3. 50
. & (m) 074| o73| 033] 033] 090| o090 o048
£ g E X B (m p1s| o018] oov| oo7| oie| o1s| oo9
AET LETLES |
MEELERLES
N # (¢) 5.5 5.0 4.5 45| 222| 246| 220| 218| 244| 258 340
H"E_ B %) 50| 70 3.5 40| 176| 193] 178 =217| 180]| 185 270
B 1
T o -l =] - - =] =] - —] = - - = =
FEEE I ik wst|somt{sptr] so| as|somk
== 7 v (rg/2) | o000 000 0.003 0001 0005 0001
s # # (L) | 0000 o.ooo 0000 = > =
# ) B (mess) 000 0.00 0.00 ooo 006 0.00
M2 F 5 ¢ a(mit) 0.00 0.00 0.00 0.00 000 oo
p & ) (sg’L) | o082 0.020 0,00} 0.00 000 000
7 e o4 ( 6fl) (m/L) 0.00 000 0.00 000 0.00 0.00
H | i # (m278) | ooos 00061 () |ooos no1| @l | ooo0 000
B Ak B [osool47| |oooo] 40 |eooofq? | LT oo F0Vl. ase] A oo
i pH . Azl 10, __;*.i | s mf' 74| 74|, 69| 70|/ 69 \_-]'.Il 68
P _p 0 (=e”2) |A273) 1009 N385 1277\ A390) 1250 112 105| 103 9.2 2.9 a4 2.9
m|(| B o D (m7L) 1.96| 278| z02z| 400 145| 321 20 25 11 4.1 1.0 1.B 1.1
M| c e D (me-£) 320 282 L77 2.8 al 1.7 52| 116 46 1.8
R 5 8 (/L) | 426| 420| z68| 710 127| ss0| 18| 3| 14f 23] 202] 102] 19
¥ x B 8 F Borviosd o o| 9zo|1s600|2200|64000| 1700) 2800 260| 5400| 24000 35000| 3400
n e ol I (s o
7 o= S =8 (glL) 0.00 0.00 0.00 0002 0003 0002
L # (maL) 003 0.04 0.03| 0.05 0.04 0.00
| # (mre) | 020 0.08 0.10 003 0.00 001
Wl m M M (L) 016 063 006 006 010 23z
H | HRE=-T (giL) 0.09 0.00 0.04 001 003 000
£ e & (e L) 002 0.00 0.00 000 000 000
ik ¥ (me) 0.2 0.0 0.0 006 0os 0.0a
R A+ v (wr)
Hle @ %
; Vo= iR () 164 117 1.20 0,26 055 0.08
L& 7 by B 523 50,3 3.9
o~ Br 71.8 699 635 s0.0 700 9.0
O ot ok RITTEM (s7L) LOG 004 01z| 0o 4 00 6 0.0
;ﬁ P C B
— | S L) 034 D45 045
| Y YR A A v (L) 0000 0023 0008
| R | B (eew)
o] s, &R (m) —035| —036| —048| —048|-028| —028
. o

e

CRIERNH 1 RIRGM I TE, R, i, HOBSoNeRATHZ L,
2 BHEONIE, B, ZFAFC L W&, ToREETSC .




23 3% K SRR 2 S R 2R

B 48 &

dF®A CRMRIIRSR )

SRR NI M B DOMCHAEN e R S |

mig (iR sl 1-pE ) i Nk
B s ] i
HEHB H-H 7.16| 8,20 w » w” a.17| = 10,22 + [11,19 ¥ 112,17 v |
it () 49 03 0.4 0.4 —| 13s5] 104 | 151| 147| 157 154 6.4 B.d
% B {i B |l | FD |G [RGB | R | R | B | RO | MG | PR | D | R
Rl x w | | [ [ | @ | | W [ m | @ | wm | @ | W m
w | s (0 &) |10:39] o:09|12:08]18:98 | 24: 03 13:58 | 14:38| 10 I3 14: 1§ 10:98 [ 14: 38 | 10: 98] 14:35
& & 2 (m) 045 031 030| o30| 03o0| oso| 055| oyo| o068 075| 05| 055 055
# B IR O & (m) 009 oze| OZ4| 024 24| 04 ol 14l o13f o1s| O15] 011] Qi
Elfamg (ma)
mo| MM (K )
& A (c) 360 250 340 28.0| 260| 254 305 230 250] 148 134 130| 125
s 7 (%) 20| 210 27.0| 258| 235| ZLO0| 242| 160| 180 9.8 08 40 &0
e - 8
2 b = = - = = = = = = - - -
Ei #® [ (=) |soBlklaoBl k|0 k|sopie|sopik| 23a0| 120{ zoo| 180|s0plk|soBlE| 2ol 100
o F g ¥ (mgsL) | 0001 0002 0.003 0001 0003 0.004
| 7 AF KR (L) = 5 = o = ~
15 wm £ (mot) 0o 000 000 o.on noo oo
B2 F : 0 a(=/d) | ooo 0.0.0 0,00 0.00 0,00 000
i e (mg7L) 002 o00 000 0.00 0oz oo
o4 ( 6(H) (mL) ano 000 000 000 oo . oo
| % (e2/2) | 000 000| 5, 001 | ooo 0012 | 000
@k R (me) |oooo o000(2, | b | W] aooe] ;1T 0000]7 | 0000|0000
pH 69| 72| 78] w7| “wo|/ er| N es|/ e8| “ar| 67| s8] e7]| Nes
;!;_i D O (og/L) 81| ~7s| 103 74| o8 10a] 2] 103] 3] 126 lhq: 132| 113
m|p o D (xpr2) [\ L21| o8 L4 13| w7l Lzl Ll oe| a3yl n2f 32| L1 44
Hlc 0 D (m/2) az| 13 26 25| 21 13 28 1.7 38 22| A7 28 64
H 8 8 (mL) 18 2 3 3 3 23 47 i 24 1 1 20 20
" 4 B @ B PowrnAoces| 17000| 1700 1300 2400 2200] 16000 25000 16000| s400] 92000| 92000| 1700 2200
n e s e ()
7 = /4 = MG (m2) | D002 0001 000g 0001 0006 D.003)
L #H (=L} 0.00 000 0.00 002 000 001
B | @i 85 (merL) 0.00 .09 001 003 0.04 000
ol | | M 8 (m7L) 0.03 403 oo 005 000 000
B | =y () 0.01 000 0.00 0.00 0.00 005
7 = & (=L} 000 0.00 0o 000 000 il
i) ¥ (s L) 0.04 0oz 0.03 0.03 007 0.04]
H #®& 1 * »(mL) 100 19.0
e @ k(e
;ﬁ FwE= 7R A (erL) 0.24 0.07 036 040 0.56 017
T oh Y (L) 300 20.5)
—~ BE 6 1.0 61.0 60.0 64.0 5A.0 710
T e o TS (s2) 0.04 0.03 0.0 3 0.04 0.06 0.05)
PMI P c B(eoWT) 05 |
nﬂl (R A 0.82 082 071 066 066 i
Vol A A (meE) | oozd 0011 0023 0021 0014 0024
il ] BE { pvrAm) 150
i bl @ (m) | —o047|-051|-051|-052|-052|=040 | —040|-028|—0.28|—039|—039]|-047| <047
F ol

MRiE R L BRI owvCi, R, G, oS ojEEATSICE,
2z Efmogik, BT, SHTcrsBa82 ToBERTaC L,




A3 R 7K 38K ] B SE A R

B #H

48 4F

kA CREIIAR)

REmmENmME  MRORE R R I X
g ER HE

e

L EMEoNi:, SR, EWEcL S UEE, ToRERTS L.

anid  ClR LR )
%mﬂfﬁ 4 ®
ﬂjgmﬁ _:EI 1.23| 1,23 2, 7| ~» 3, 6| » q.23| = 5.21| = 6.18| =~ 7.16
| % ft () 87| 80| as| a4| 33| 84| — [19s 47| 44| 320] 357 32
W m | el |0 | R | el | md |l |l | i | G [ RG |la | ed | m
m|E o om | owm [ oew | oo | omr | o | sk | W | W | W (Bhem|Depen| W
5 WEMROE B C 8§ ¢ & ) |10:00[14:00[ 10500 14:00( 10:00| 1400 10:99]14: 92| 843 | 14:22( 10: 98] 14: 15[ 10: 90
4  ° ® (m) 065 o058 052 048] o088 o086 041
il & R K B (m 043 014| 014| 020 018| 017 009
T (W)
LR ED
g #o() 7.5 70| &0 75| 2o3| 248| 2r1| 214| 238| 252 326
H #* # (e) 50 75| 60 70| 146| 184 163| 20.2| 172| 182 262
fa $i
R a - - - - - - = = - - = - -
E- # B () soplb| zso|aoplb 2zeo| 140 60| 30 BLE
| . ¥ (mgrL) oo ooo o003 0o01 0002 0001
g | 74t AR (mL) | o000 0.000 0.000 = = -
f -] 8 (mgrL) 0.00 000 0.00 0.00 0.00 0.00
B ¥ = & a(me) | doo 0.00 0.00 0.00 0.00 0.00
M s (mgoL) 01z 0o1g 0.008 0ol 000 001
e 4 6{F) (mL) 0.00 0.00 000 0.00 000 0.00
B[ o # (wL) |oo00s| o) |oo0s 0005 | @ oo1| (& [ 000 0.00
W &k #8200l eoee]z T Jeooo [747 | 0] e 47 oo oo | e
L 2 pH , S| e ?5 ;fa_ 'i.? la" 72| \7a|' 7| 7|/ 69| 70| e
w2 0 (m2) |A145] 1074 F324) 1870 p5se [ 1968] 113] 10| 115 11| 84| 80| 100
m| B 0 D (s/2) s73| 32s| 224| s26| sov| ame| 1e| sa| w7| 87| 2o 28] 14
R|c o D (mg L) 393 501 2.98 27| =7| 24 70| 43 52| 21
ol B 8 (mprl) 79 g2 108] 114 150| 216 4 2z 14 6 52 77 g
3 & By B B IMPN-00=f] 200| 680 ﬁﬂﬁt 1600] 3300 92000| 9200 | 3500 3500 9200| 3500 17000)1 7000
o et oo Y (mprL)
7 oa S = A8 (L) 0.00 0.00 000 0.003 0.006 0.001
L . (ng/2) 0.02 0.03 0.03 0.06 0.03 0.00
B | d iR (mrL) 0.24 017 027 003 0.0 0 0.01
Hol@m M % Bk (wl) 0.03 0.04 007 0.07 014 278
B | mBiE~v > (L) 000 0.01 0.04 001 007 000
.2 a & (mgrL) 0.00 0.00 0.0z 0.00 0.00 0.00
i & (rgL) o1 0.0 0.0 0.10 0.09 0.04
EE R ACe
Hle @ @)
ﬁ rre=7IHRE (L) 196 1.87 245 0.09 007 0.0 6
| 2748y (L) 47.8 326 370
~ LB ;3 764 724 6 B4 58.0 660 43.0
O\ @A A REEEF (L) 0.09 0.08 032 007 008 0.06
3|
il = e =
w | BB S R 039 071 056
U w84 F »(mL) 0no8 0016 on1e
® 8 B (e
il L_ﬂw,_ @ {m) 097 | 087| 081 | 078 105| 100| 069
5 + @il
WIRTE Y 1. BB oy TR, ER. 8, BeESoftEATAC L,




2538 i I8 K T B A R

Mhes i

AFE CHURNRR)
E A Cia e )

MEipminsipme R R R

iR H R A

S TEHl AL i 15 o
#Seng ‘B 716 | 8.20| 8,20 8,07 » |10,22] # |ue| -+ |az,a9 # |
# @ (dss) 26| 04| 07| 117| 101 163| 169| 138] 146| 3| eo| eo| _]
i - {i B | | B | G | W | WG | B [RGB (RGBS | RO | &S| R
R xE w| @ | o | | W | ® |8 | of | ok | o | ofF | 5 | ¥ | sy |
| RESH (W F) 14:98110: 10114299 10: 93] 14: 39 10:99] 14: 201 10:93] 14:98| 6:99] 12:99| 12:99) zﬁi
i & Fid ﬂ {m) 043 020 ig 62| 059 ﬂ_.'?E 0.70 0.7a 070 0G0 02 065 u_sl
£ IE X B (m) 0.09] 016]| o14] o012 o122 ora] ox4| O14| o0a4] oazl orz| orz| ons
ElFama (8 a)
| AR (RS ) _|
“, C#l (o) 34.8| 344 .350| 282| 292 1928| 228] 132| 142 -os| 125| 14| 22
H k. # () 287 268| 310| 2zn2| =242 1R3] 183 76 0.8 1.0 46 6.0 50
24 18
; B & - =] o= = = = - - - - = = -
i - # [ (=) 27.0| zas| - 228 65| 121| 285| 210|30BEE| 270{s0BkE 220] 90| as
- 7 ¥ (m/L) | 0000 0003 " | nooz 0002 0.004 0.002
g | 7oA ok B (L) - Be - " iFet = r
- ® i (rprL) 0.00 0.00 o.oof 000 0oo 000
B2 F ¢ o a2 | oo 0.0 0 0.00 0.00 0.00| " 000 '
: # % (mp L) 00 2 0o f 0.01 0.0z 002 006
Fr A 6{H) (L) 0.00 000 0.00 0.00 0.00 0.00
B | & & (22) | 000 0.00 " 001 oot | o001 000 @] .
@ & B [oooo]yi]]eooo]| 7/ foooo] V1S 0ooo] |V 0ooo T e
A pH 70| 82| “pol - es| \s7|/ e8| “gs 68|\ 70| _&F| 73| s9| . 18
= | P 0 (o) | 1os| 13| 1ne| eo| 10| 1ea| idal 126| 18} 1ze| 137| 112] 3
‘s | B o D (r27L) |9pan|. 24| 19] 24 20 10| 19| 14| ‘zo| 11| 28| 49| 30
x| c o D (neL) 6ol 29| =zi1| 44 a7 24| 39| 24| - 38| 14 41 g1 4
|3 - 8 (m L) 1 2 5 35 an 1 11 2 2 1 18 30 1
A EE N Bf TPNA00sE| 35000 | 24000 | 52000240000 | 11000 | 35000 17000 | 35000 | 7000 16000| 9200 | 22000 | 15000
A I (ne) ' |
7 = 4 — A M) |onoz 0005 | 0001 0.000 0003 0.004
S SR (2272) | o000 0.00 0.00 001 000 003
B & B (mpt) 0.00 0.01 .00 0.02 000 003 B
ool B & 8 (el 002 011 0.00 0.00 000 0.00 e |
B | s (mpll) 0.02 090 000 0.00 0.0% 007 |
g = A (ngL) 0.00 0.00 000 0no 000 0.00 |
i # (=) 0.06 002 0.04 0.04 07 005 |
R A4+ »imd) 7.5 14.0 B |
e @B e
fﬁf 7vE= TR (L) 0.29 0.13 0.15 0.16 0.17 062 ==
Y LE7en)E (E2~E) 0.0 310.0 L
P . HE | 880 88.0 650 69.0 59.0 81.0 s |
20| B FAREEER () | g0s 0.06 007 0.05 0.08 0.09
m[ri P c B
f{‘ R R 092 117 1.04 071 056 104 | .
Yo A A (el 0034 0137 0013 0022 0007 0023
H o E et
i S, @ (m) 065 os2| osz| o0s2| os1| oss| oss| oss| os7| 117| 117| 116| 114
5 0k

dRIEEgIE L IR I ov-ThE, R, O, BOeRSoERATSEE,
2, ENIEoNik, B, Sdc s Ba8E, FoRBBETeE L,




36 K BOKE B SE s R =R

Bifn48 g
"m_( FBNIKS ) EEHRERIBSEMEE M R R LR
il & { SR AR ) G ESE WL
BE e i B il |
MQ%B;E 1,23) » |z 7 #« | 3,6 # |4.23| # | 52| » | 528 » | 7.16
"‘_T it (A 126 | 126| 1s0| 152| 150| 152 26s| 184| 6B| 69| 452| 449 61
T ® & B’ w0 |wo | &o | mo | el e [Re (ke [k [&C | &G | RO | RO
NS . B B i ] B 0 i B iy g % & 0
i ____.Iﬂ_Eﬁﬂ (B : 4 ) |10:00]14:00]10:00] 14:00[ to:00 tazoo| 10: 05| 188 1o: B2 va: 5] 10: 90 1az 3| 10218
M- Fi3 ® (m) 0B0| o8B0 D065 065 L20| 21| 72
e m x & (m oa6| 016 o013 o013 oz4| o024 o014
E[Fama (&a) ;
i Em CERLE R _
o ® (e} 80| 80| 68 0| 240| 243] 180] 220| 27.0| 256] 304
A X f () 85| &85 75 70| 134| 180 132 224| 205 218| 260
B 1
" e e et O O s
__ﬁ_ i H (m) 21.3| 22s|, 225 225| 245| 250 260
o 7 ., ¥(miL) | o000 000 0.030 ooz 000z 0002
g | 7 KR (wE) | 0000 0.000 0.000 = i =
&% B W\ (wee) | ooo 0.00 0.00 0.00 .00 0.00
W2 F & v a(wie) | ooof: o.00( ©0.00 0.00] - 000 0.00
" 5. (=g7£) | 0008 0016 po3o 0.04 0.00 000
s oo { B{H) (meE) 0.00 0.0.00 Cooo| . 000 000 0.0 0
B |t 3 (m72) |onos 0.006 0006 000 000 0.00
] Hx R (=) 0000 nooo 0.000 0o o Qoo 0.00
© pH 69| 70| 7ol 72| 70| es| 71| 7To| 71| 7a| e8] 70| 68
; o 0 (ra’L) 485| 466| 777 916) 1041| 1038 98| 13| 86| 103 86 20| 102
'm | B 4] D (=) 3.23| 3.08| 385 515| 782 7.34 18] 88| 29| 48 %1 4.7 54
. o 0 D (ng/L) 755 866 1167 4] - 44 51 6.2 31 31 54
n g 8 (w7k) 168 196| 11.2| =242| 302 1746 19 11 8 § 8 8 3]
: & B B M SR 00w i o] 170] 350 952000/160000( 1000) 3500|9200 | 2200 | 17000 24000] 17000
oA oY (is)
7 . 4 = a B (L) 0.00 0.00 0.00| 0,090 0002 0.001
E1] #H (masf) 0oz 0.0 4 0.06 00T 0.00 0oo
B | @ i (ep/L) 0.20 0.08 .0.24 0.06 000 0.00
wo i RO () 0.07 008 0.20 018 0.25 056
B | W= & (mre) 0.01 0.06 014 0.04 0.03 oo
¢ " 4 (eg/L) 001 000 002 0.00 0.00 000
i - ¥ (mps) 0.2 0.0 0.0 0.20 a1 0.05
HE& 14 # v (wd)
Fle @ &
:ﬁ Fre=T7HRd (l) 692 428 B15 130 218 075
ylEsa~h VL) 57.6 47.0 56.5
| B 13 87.1 781 715 6 4.0 80.0 50.0
E;i: B AR EE I (22 | 008 0.05 057 008 010 007
] |— & z
~ | W R S E L) 066 050 076
BES RS a: ) 0Dos 0024 0n10
e | F O (avtm) ,
" wil, GE)  (m) 274| 272| 245| 245| 310| 311| 2393
A rof

LRIEGYHE 1 BERRICOVTIE, AR, LB, BOBSONLEATIE

T

2 Mo, @E, SASre rs8sl, FoRgRETE D,




A KoK B 5 # R &

B e
K&s  (ABIIKSR) SRR LIS R PO 4 u&m:ﬁmmmmumﬁf
g (R AR L ) R R N
304 A | 262 2.l |” @7 23 | oo 8
MEmA A-H 7.18| 8.20] w " w | 907 » |10,22] » |1n.198| » |1207] .
i B (ols) 63 1.7 1.8 24 —| 13s5| 185 | zzp| 218| 154| 163 TA| 7
® ® & & |#o [ | RO | ks | o |80 |G |G | RO | RO | RS | RO | ol
R & | W | m | ow | m | o | 8 | w | o | o | s | m | w | 0|
wo| BEEE Cug o oH ) [15:82 6:98) 12: 09  18: 02| 28: 98] 10: 98] 1a: 38  10: PG| 14: 98] 10298 ) 14:8] (102D '“_ﬁ
Y * ZF  (m) 0.72| 32| o0a32| o34| 03s| 099 099 085 085 081 o082 062 ase
" B IR & # (m 014| 026| 020 oz7| 0.28| 019| 018| 068 068 0i6| 016] i3] o4
AR LY RE T |
AL LEREEN
£ B (o) asa| z8a| szs| zes| 255] 2s50]| 2rz| 17s] zos] 1zoe| es| sz @
H ;-j{ b g {1:) 28.0 2685 317 2491 276 2z8 24.5 176 19.2 B8 0.5 48 _i._ﬂ-
f B
n k-0l - - - = - - - - - - - - =
& M ® (em) a0l 30 BLE| a0 BLE & — — |30EBLE| 24.0) 30 BLE| 30 BLE] 30 2L 1| S0 2k ) 30 2L 30 W)
= T + (B3 L) ool 0ooa 0003 0.002| 0003 0003
g | 7k o KR (L) ~ - = = = E]
#H =» 5 (mprL) 000 000 oo noo 0.00 0.0
W% F : 7 &l | ooo 000 200 000 0.00 000
" i (mg L) 0.0 000 oo 006 000 a.a0
Fwa ( 645) (L) 0.0 0.00 000 0.00 000 0o
B [ 8t % (/L) | ool 002 o 001 0.00 0.01 000
i A iR (m2) | oooo 0000 0660 0000 0.000 (1111
pH 7.0 74 86| 76 7.1 ga| 68 6.7 68 70| 69 69l 68
?:, D O (= L) 128 61| 109( 107 25 95 103 a6 83| 10i2| 104 ol 10|
m | B o D (ng/L) a1 17| 20| 14| 54 rm| 31| 1zl 22| 1yl 45| 33| 8
B|c o D (s/L) 5.1 28] 28| 27| 8s| 38| 45] sa| 49] az] s8] s3] 44
W T3 8 (/L) sl 1| =20 7| 13| 18| 18 2 1 1 1| 1z| 18
= & B ¥ % PO0PNAo)| 11000| 3300) 5400( 28000 je0ooo | 22000 92000 35000| 35000| 24000 16000 | 15000 | 35000
o sl (nes2) _ e
7 = 4 — A H (wL) | oool 0003 ool 0008 0001 0001}
L " (ng/L) 0.00 0.00 0.02 0.00 0.00 0.08
B 46 it (=) 0.00 0.01 000 0.00 001 od
Mo E M R (L) 0.0 8 0.8S 000 0.09 0.0o Ef:
B | R (L) 0.05 0.13 0.00 0.0 5 0oo0 o1l
& o A (rgrd) 000 0.00 oo 000 0.0 0 _FE
il # (re L) 007 0.03 0.04 0.04 006 003
W ok 4 # v (2 125 ﬂ
Hlae s # e -
B o= 7R (L) 107 077 240 0.64 039 150
f: BT A H VR (L) 385 __’,1_5
L g | 720 1030 680 71.0 780 VH_"EI
F O | e o TR R (o) 0.09 008 008 007 008 [T
ofile ¢ B (pvlT) os
SALE S-S ¥ ACL) 071 076 104 082 052 | 118
Y WA F 3 (mL) | opze 0049 D011 6010 0007 | opal
w8 (avm | e
{if #-10, @ {m) 23| 254 254 256 315 15| 266| 266) 20| 260 241 __:"-:_1
% | %ol e
AERIERRNCH 1. RHMEE o TE, ER, OR, RUEBES0ERATEL L,
2 EMPeoNik, BE., Vg SR, FoRBEBETs o,




